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The problems with liberal consensus.  
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7KLV�DUWLFOH�LV�D�FULWLFDO�DQDO\VLV�RI�WKH�PRVW�LPSRUWDQW�DVVXPSWLRQV�RI�&KDQWDO�0RX஀HيV�SR�
OLWLFDO�SKLORVRSK\��DORQJ�ZLWK�LWV�RULJLQDO�FDWHJRULHV�VXFK�DV�DJRQLVP��UDGLFDO�GHPRFUDF\�DQG�
KHJHPRQ\��7KH�VRXUFHV�RI�KHU�FRQFHSW�DUH� LQGLFDWHG�DQG�FHUWDLQ�GLஃFXOWLHV�WKDW�WKH�DXWKRU�
IDOOV�LQWR�DUH�GLVWLQJXLVKHG��7KH�WKUHDG�WKDW�LV�FRQVLGHUHG�FHQWUDO�WR�WKLV�SKLORVRSK\��ZLWK�WKH�
PRVW�SURIRXQG�SUDFWLFDO�FRQVHTXHQFHV��LV�DQ�DWWHPSW�WR�GHPRQVWUDWH�WKH�IXWLOLW\�RI�D�OLEHUDO�
GRFWULQH�WKDW�YDOXHV�FRQVHQVXV�DQG�GHOLEHUDWLRQ�DQG�SURFODLPV�DQ�DSRORJ\�IRU� LQGLYLGXDOLVP�
DQG�UDWLRQDOLVP��0RX஀HيV�GLDJQRVLV�VWULNHV�DW�WKH�PRVW�LPSRUWDQW�OLEHUDO�YDOXHV�ZLWK�WKH�LQWHQ�
WLRQ�RI�GLVFUHGLWLQJ�WKHP�DOWKRXJK�VKH�WULHV�WR�FUHDWLYHO\�DGRSW�RWKHUV��VXFK�DV�SOXUDOLVP��6KH�
SURSRVHV�D�QHZ�SDUDGLJP��PXFK�IDLUHU�WKDQ�H[LVWLQJ�RQHV��EHFDXVH�LW�GRHV�QRW�QHJDWH�WKH�FRQ�
ஂLFWLYH�QDWXUH�RI�SROLWLFV��'RHV�DQ�DJRQLVW�GLVSXWH�DQG�UDGLFDO�GHPRFUDF\�UHDOO\�KDYH�D�FKDQFH�
WR�XQGHUPLQH�OLEHUDO�D[LRORJ\"�$UH�ZH�GHDOLQJ�ZLWK�D�EUHDNWKURXJK�LQ�WKLQNLQJ�DERXW�SROLWLFV"
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